BREEHTEZFOMHERERRE GHERLF1—L40) 1/3
REHRRE ¢ FR28FIATH (K) ~FR28F9H30H (£) (B3 : A Jblb/kg)
35 — o o BEH R BERRESE
m==| N7V L R (95) EII4134+137 (t94134+137)
[EES 5V BB LT AHEET H28.9.20(X) AR 15.5
AESES TAHYX LT EZEATFRE  [H28.9.21.00 N 11.3
ElESES TAHYX BThEe R H28.9.27. () N 11.0
AEES TITHVX BIUTHNEIEE  [w2s.9.12.(8) ESE 9.4
HEES T 5N X BB LLTh =FEHHET) 11HH [nes.0.21. (k) ESE 10.4
JEES IR X (Fn) BB AHET 28.9.27. (%) & 8.8
UEES Hh7 BB LLTh =FEHHET) 11HH [nes.0.23. (&) ESE 9.1
HEES ARF v AR LI AT H28.9.2. () AR 9.1
EIESES ARF ¥ BBLLITH AHRET H28.9.21. (k) MR 8.5
[NEES HRF v N /NG 128.9.14. (k) & 6.8
[HEES FrRY BB LT AHRET 128.9.26. (F) ESEE 8.5
12|53 FARY BLLh=E X LLE] 128.9.30. () ESEE 11.2
13|53 Fa1oU BT HAHAETSE [H8.9.26.(8) ESEE 1.7
AEBES Faol aglllm 128.9.13. (%) & 6.8
[HEES J—+ BB LT AHET H28.9.6. (X) NG TiE 12.9
[HEES J—+ BB LT AHRET 28.9.12. (F) ESEE 11.9
[HEES J—+ BB LT AHRET 128.9.26. (F) ESEE 12.5
[BEES HYNYAE SRBAR R 28.9.12. (F) N TiE 7.6
[EIEES YY1 E BB LT AHEET H28.9.8. () A& 8.7
P EES YY1 E BB LLI T AT 128.9.21. (k) & 9.3
X EES HYYLE BB LT AHRET 128.9.30. () ISR 6.0
22| HYYLE EN= 128.9.26. (F) ISR 6.9
23| HYNAE () [GEARN 28.9.12. (8) 10.0 8.1
YAEES vIEES BB LT AHRET 28.9.12. (F) ISR 10.0
L ES Th1E BB LI T AT 128.9.27. (%) A& 9.4
26|53 vV Fry  |[BRLLUTARHE] H28.9.1. () A& 7.4
Y EES Jv M E ﬁMﬁKWW H28.9.8. (K) A& 8.2
L EES >3] glllh 128.9.28. (k) A& 9.5
LI ES 217 ﬁBIJ_II_'ﬁEEM‘THiT1..,\;E H28.9.1. () A& 8.1
BN ESES ERi=P] BB LLI T AHET H28.9.7. (k) A& 5.1
Y ESES ERt=V BB =FEHHET 11 [#es.9.14.0k) & 8.5
eV ESES ERt=V BB =FEHHET 11 [#es.0.26.(7) & 11.4
33[Fp3 EXF BUTHZREHIFRE  [#8.9.2.(®) A& 11.8
AL ES EXRF BB LI T AT 128.9.27. (%) L 8.4
358 ExF BB LLTh =FEHHH]T) 1 1HH [nes.0.23. &) IS 8.2
36|%F3% EXRF BE|llm 128.9.28. (k) T 8.4
37|83 + 2 BB LT AHEET H28.9.7. (%) IS 10.2
38| E¥3 F R BB LI T AHET 128.9.13. () L 8.2
39|53 + 2 BB LT AHEET 128.9.30. () IS 8.0
MEES F 2 aglllm 128.9.28. (k) L 8.7
IEES —> BB LLTh =FEHHH]T) 1 1HH [nes.9.30. &) IS 8.4
Y ES NTYA BB LLTh =FEHHHT) 1 1HH [nes.0.23. &) IS 8.7
43| FFE E—~<v L= X LLH] 128.9.30. () IS 12.3
MEES E—<v mE™ 128.9.15. () L 12.2
45[FFE SZRYh B L N HI RS H28.9.7. (k) AR 10.0
Lok GiFk. B=k=) |FFRIK BT ATRE] H28.9.1. () IS 8.4
LTk GiAk. B=x=) |FFRK BN Th= X MBI~ /A [H28.9.5. () AR 6.0
L8]k HEK. EEK®) [EBIK ERLLm R AT H28.9.28. (k) PN 8.3
WE - EOCFE|[FHEIY BB LI FHATHT 128.9.26. (F) 147.2 13.5
5[ - =DCFE | 7PHEIY EEEZIAN ) H28.9.12.(8) 78.5 12.7
HINERER  AE ARG 3 S i) H28.9.2.(%) 564 .1 8.2
RILUE-FDOCFE (P55 E=E E=x g 1) H28.9.30. () 153.9 13.5
RBlUE -=ncfE |55 B2 BT H28.9.26.(B) 114.2 8.8
ANERE R AVEERS B2 BT 128.9.27. () 211.2 11.9
55[ 1L - %@Ziﬁ P ELLRZVERT K]l  |wes..27.0 174.3 8.8
561115 - CHE|PZHT BB LT E R T HHEY [nes.0.27. ) 32.1 9.2
57Mﬁ-%® ﬁ‘2597 8L A T 28.9.26. (8) 18.1 8.9
FINEREIRAEED: BLLTHARAET 7R [He8.9.28.0k) 120.5 8.1
59M§-%®Cﬁi?597(ﬁ) TR AR 28.9.12. (8) 285.0 8.2
60|l - FDCHE (7= (zn) [BRLLUTHEMBHE]AFE  [ns.9.26.(A) AR 12.5
61| « TDHE [rvRyyxY @) [BFLUMHNETEIR  |H8.9.26.(8) 21.8 1.4
62|LUZ « D HE [vo~=nzroxy @) |BFLUTHEMERT 2 HEF [Hes.0.27. (%) 12.2 5.6
3[R - =D [FAA M Fa oy 5 |ESUTERBDTA  [H8.9.5.(8) 53.1 8.9
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BREEHTEZFOMHERERRE GHERLF1—L40) 2/3
REHAR - FR28FEIR1H (K) ~F 28 F9H30H (&) (BAfL = A" 9blb/kg)
35 — o o BREH R BERRESE
64{LLUIZE - EDCFE |FAA 1 Faoy 45 |BRILUTEREE]ZHEF [128.9.15. 1) 35.1 14.1
65U - EDFE [hoss7oever @ |BRLUTHE 0] S HEF [Hes.9.27.0K) N 11.5
JINEREDM A EPER SEHIT 128.9.29. (#) 69.7 12.2
67|ILIFE - TDC ﬁ mED SEHIT 128.9.30. () 107.7 8.4
FINEREDRMAEPER TEBAEN 28.9.26. (F) 214.8 11.0
69|11 - déd)ziﬁ mEY BB ira BT H28.9.9. (%) 206.0 8.6
NNIERERRM IEPEL: BRI AR ET 28.9.21. (3k) 201.9 9.0
HNEREDR 1EPER: H# T H28.9.29. () 264.9 10.3
[ANERERRIEPER B8 ER e 1CHT 128.9.23. () 155.4 12.6
ENEREDMAERPELECIEY T 28.9.30. () 34.9 9.8
ANEREHMACPEPECEREEEZ SN H28.9.30. (%) 561.6 14.7
75U - FEQOCHE (o594 (@) [BRLUMEVERTGEE  |Hs.9.26.(8) 51.0 8.4
[ANEREI A ERS ERARRRAN 28.9.12. (F) 1,471.8 7.2
HNEREDD M AP EEP) B8l H28.9.28. (OK) 35.6 12.1
ICONERED AP HR BRI mm T H28.9.30. (%) 125.6 17.1
EINEREDR AP PPEC RN ® ] H28.9.26.(F) ESEE 6.3
INERERR- AEEEER: Al EREH H28.9.6. (X) 1,370.3 19.0
HINERERR - AEEEER aREARTT 28.9.5.(F) 88.8 6.4
FANERERR AEEEER BRLLITHhEREET 28.9.2. () 164.2 10.0
FENERERR AEEEER: BT E BT 2 FHEY [Hes.9.5.(A) 404.9 13.9
ANERERR AEEEER: BRI AHRET H28.9.6. (X) 659.8 13.2
S NERERIEEEERS AR R NIBHE] 28.9.12. (F) 47.0 11.4
86[lLZ - ECE [(#~ T4 () [FRLLTE#E] H28.9.2. (&) 67.8 5.6
87Uz - =D (555 E8 1L AHEET H28.9.16. (&) 99.7 14.1
INERE R A EEERS B8R e O] 128.9.20. (K) 29.8 6.0
I|LE - =D (75545 (7)) |EEmEREmHE 128.9.21. 0K) IS 8.2
W[LE - FDOZE [Fr>97Er+ @) |[ERLTHEHEE] H28.9.21. 0K) aE 8.2
INUZE - =D (XU TF (@) (BB EREHT 2 FHEF [Hes.9.27.00) 38.1 7.5
RLZE - EDFE [\ o7 xY (@) [BRLTHEREEIZHE [Hs.9.27.00 A& 7.3
BIILUXE - EDCF [/ \VHS (zn) [BRLLTZEFEA]ZHE [1s.9.27.00 22.2 12.1
ANERER AP EEX SRR R SRAY H28.9.21. 0K) 1,334.0 8.1
CHMERER A PE X BLLUTAmET AR [wes..27.00) IS 9.8
96| - EDCH [RTF5S (Eh) [BRLUTHERET S HEF |1s.0.27.00 13.9 10.7
HNEREDLD M AEEED: AAEsE|LIBT H28.9.28. OK) 12.6 11.6
HNEREDR AEERS: BBLLITH AHRET H28.9.1. (oK) A& 8.6
CEINERET R A EERE)) BB LT RERL 128.9.26. (F) IS 10.7
NERERRHAAEERE) B =S XA HET 128.9.14. OK) IS 10.0
MNERERRMAEERE: 8L PR EHET 128.9.23. () IS 11.4
TANERERRHAEERE) EB1Lmh HA0EET 128.9.13. (K) IS 8.1
103[I I - EDCFE[=30AH BB HADHBI/\T B [#28.9.23. (%) & 15.4
104| BT 5E JI= BB LT EHAT BT (LR [nes.0.16. &) IS 7.1
105[8 N8 EW, BBLLTH A YEET 28.9.27. (%) & 12.9
106 %i 7oE BB LT AHEET 128.9.26. (F) IS 10.0
107|R=E 7E EB LT ARET H28.9.12. () 6.7 5.5
108|5R=E 1FI5 BB LI AT H28.9.8. () AR 9.7
109|R= 1FI5 BB R H28.9.8. (A%) AR 8.3
110|R=E ONTRD BB LI H A0 EHET 28.9.23. () AR 14.3
(EIEES hF aRBES AR 128.9.23. () B 9.0
MRRE A+ AR AHAET 28.9.28. 0K) &L 6.7
113|R=E ¥4 WEESET 28.9.27. (X) AR 6.6
114[R2E I B2 BT H28.9.27. () 19.3 11.5
1158 = 1) 8L L2 EHT 128.9.29. (4) B 10.0
116|R=E 21) BB LT T H28.9.9. (%) 20.1 10.0
(KHEES 1) BB LT T H28.9.14. (k) 18.2 8.4
118|R= 21 BB LT T H28.9.29. (%) 16.9 10.7
1198 = 1) BB LT 25 FHEF [Hes.0.27. X B 7.1
120|5RE oY B LT AT H28.9.13. () 23.5 11.6
121|8R=E oY AL AT H28.9.30. () 14.8 10.7
122|RE oY L h= A HET H28.9.26.(3) 66.7 8.9
123|R= 1) LTS A HHT 28.9.26. (F) A B 5.2
[PAEES 1) F NG =E=] 28.9.12. (F) A B 5.4
1258 = 1) BILUTHNETS/E  [He8.9.7.0K) A B 8.2
126|R= 1) BT EHATET LA [Hes.9.28. (k) A B 9.7

X RHRFEREE “TRE” ERRo

SEFEEM @ BT



BREEHTEZFOMHERERRE GHERLF1—L40) 3/3
REHRRE ¢ FR28FIATH (K) ~FR28F9H30H (£) (B = N 9blb/kg)
35 — o o BEH R BERRESE
= | P73V i E PREXHS 98) €79k 364137 (£94134+137)
127T|R=E 1) BB T EHATETAEA  [H28.9.8.(4) A& 5.7
128|R=E 1) BT BT 2] 1] [H28.9.20. (x) 447 7.5
(FEIEES oY ERLLT BF0EET H28.9.16. () EE 13.2
130(8REE 1) ESILTEHA0EE]T H28.9.20. (N) 6.3 5.3
131|582 g1 L =FEEET IO [He8.9.5.(8) 10.8 10.6
132[8RE 1) Bt H28.9.20. (N) 8.3 8.2
133|R=E 21 T AREASZBESABZEMT [He8.9.20. 1) 41.4 9.1
134|R=E 2 R AR T H28.9.29. (F) 18.5 7.1
135[8R =% 2 (zh0) ERARRRA 28.9.12. (F) ESEE 12.2
136| K= Ry U (cFoxE) BB ERIET H28.9.2. (%) 11.1 5.5
137|RE Ny Z LR — |[SEERRN 28.9.12. (8) 9.9 9.4
138[F= N Z )R — (BT HEAETHRER  |He8.0.21. 00 NG TiE 8.3
139|FR = Ny )LD — BB H A0 EHET H28.9.9. (%) A& 7.9
[NEES JRD BB LT AHET H28.9.5.(H) A& 5.6
IIEES JRD BB LT AHET 28.9.20. (X) NG TiE 10.1
102|RE JRD BB LT AT 28.9.20. (%) N TiE 11.5
143|RE JIL—U—  |BLmFEEH 128.9.15. () N TiE 11.8
144|R= TIL=V ERLLITIRARL H28.9.2. (&) TaE 3.8
145|582 L= FLmERE H28.9.12. () aE 8.5
146| 8B ZIL— ALUHh=H|E] H28.9.26. (H) N Ta 8.4
147[R=E Rh— BB LT AHRET 128.9.12. (F) ISR 5.9
148|R=E Rh— BB LT AHRET 128.9.26. (F) ISR 7.4
1498 = RR— BRI = A FHBTHEZ A [H28.9.28. (%) IS 12.5
150|RE >3 L /AL H28.9.7. (%) ~aH 6.7
151[Z D fk 7oE ()  |allEEIH 29H () ISR 9.0
152|F Dt 1F90 (HEE) [BBLUHhAHET 30H (&) A& 6.8
153 Z Dfth R BLUHEREIDTA [ 295 (K) 21.8 5.6
154(F Dt A5V X SRR R SRAY 28H (7K) A& 11.4
155 D fth DX (188) BB LT AT 20H (N) IS 9.2
156| % D1t [ an B L= X LLH] 28H (k) ISR 7.5
157| % Dfth RERW WA 8H (K) 47.5 7.1
158| % D1t jlES BT EANERE [ 2180K) IS 15.1
159| % DAt LA BB LT AHEET 12H(B) IS 9.3
160 |H28ZEEEK X (BX) BB LIS 30H (£) IS 8.6
161|H28F =K HBEXK (XK)  [BSLLAAHRE] 2TH(X) L 8.6
162|H2TEMFIEXR K (BK) BB LT AHEET 12H(B) IS 8.9
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